H £ 0l & AF & S

Al A

SN ISR
M oM - JIS=X S
el dHdES 2 it (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IS 58,193,731 57,084,585 1,109,146
= 38,298,804
[ 1,604,843
Il 631,071
Al 11,390,911
- 5,478,059
= 790,043
e - IHE=EX ST 1,374,976 1,381,910 N\6,934
= 238,942
Il 618,940
Al 377,674
- 134,620
= 4,800
LdHES 23t =t 1,374,976 1,381,910 26,934
= 238,942
Il 618,940
Al 377,674
- 134,620
= 4,800
N J3E - J0H0H - 45 - =S s 2,900 2,900 0
201 2egh=3| 2,900 2,900
01 At2t2ltl 2,900 2,900
Oulgius XI= s JIEES
200,000 200
OZAt=g 600,000 <22 1,200
OZHULYAMIIISISUSAAY AEE
g SS9l 1,500,000& 1,500
old A XA 9,120 9,120 0
201 2egh=3| 2,220 2,220
03 A2 I 2,220 2,220
OgdgESF2 JISHA 1,420
o8, B S ME
80,0002 *4H 320
oc|EH, =FE 2,000 *300 600
cYHBSRS HF (W)
100,000 5H 500
O E Al ALK 800,000 800
206 M=l 2,800 2,800
01 M=4l 2,800 2,800
O&FSJ| NASE BN ME
2,800,000& 2,800
301 22N = 4,100 4,100
11 AALAEIXIE S 4,100 4,100




A OSSN
M o4 - IIE=EX B
el YdES 2 St (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OQEBET JISA BT 24
700,000 <28 1,400
OgddEsS2t Jlga A=g
700,000 %1 700
O & ALK 2,000,000 2,000
Olci2 OIZAtE SAISA AL 9,000 9,000 0
307 lztol & 9,000 9,000
02 2IZHBHAIHE £ 9,000 9,000
OC4EH SASAH A&
9,000,000& 9,000
HEES dEa 298 N 146,711 146,711 0
= 73,355
Al 73,356
307 @I2to| & 146,711 146,711 0
= 73,355
Al 73,356
10 Al2ISTIAIEEE 22X 146,711 146,711 0
OJtg=edga 29 146,711,000 146,711
= 73,355
Al 73,356
HEZZUIGHA XJAE SAL SXSE 58,899 58,899 0
Al 54,099
= 4,800
307 gl2tol & 58,899 58,899 0
Al 54,099
= 4,800
1 AMISXAEEX 58,899 58,899 0
OW =T A XNZAIE SALA MRIHA
HI(QAHIE&H]) X 51,736,000& 51,736
Al 51,736
OOEZHIo A XSEHAIE SAK SXIEL!
S 100,000 4 400
Al 400
OUEZHoH A NEAE SAA Al2Fel ==
g 1,963,000& 1,963
Al 1,963
O =84 gAa U2ARISIIAL XMLHE
100,000 x4 x 12 4,800
= 4,800
Ol - HdAdXNSHY =2 7,000 7,000 0
201 er2 3| 7,000 7,000
01 AtR2t2|HI 7,000 7,000
OgE= 2,200,000 2,200
OXEAt] 3lo&A =&
100,000& 13 12] 1,300
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2A: JIsd8s
M oM - JIS=X S
ool YNBES 235 (chol @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,109
307 212+01™ 3,696 0 3,6%
= 2,587
Al 1,109
11 AMSIESXAEEX 3,6% 0 3,6%
OIS =S0IoHA Xz S5 ) 29
3,696,000& 3,6%
= 2,587
Al 1,109
=X 6,850,617 6,657,632 192,985
= 3,424,519
Al 2,708,393
- 717,705
EFsF G4 6,850,617 6,657,632 192,985
= 3,424,519
Al 2,708,393
- 717,705
25 K& 70,400 47,400 23,000
201 B2 AY| 2,400 2,400 0
01 AtR2telt] 2,400 2,400 0
SRIUSIAT 5l0BHSY
100,000 * 12 23| 2,400
307 2I2+01™ 68,000 45,000 23,000
10 Al = XA EEHE2FHIE X 68,000 45,000 23,000
ONelolE 4 - ekl X
14,000,000& 14,000
ONglold &atdaadl XA
10,0002 x250H * 12& 30,000
OO0l RaRa4 XA
5,000 x400F « 12& 24,000
TEICIEIIE H{el0] AtACH=l 1,498 1,498 0
201 Let23H| 1,498 1,498
01 At 2elt] 1,498 1,498
OdARIRA =Y 150,000 *2H 300
O&Z M= 16,500& *36H 578
O 60,000 *2I4 120
O2gES 500,000& 500
AL 2 2,400 2,400 0
307 QIZ2t01A 2,400 2,400
05 QIZtAEr2 2,400 2,400
OFH2ME 23| 200,000& =12 2,400
EFUAL n¥2E 29 2,240 2,240
201 LB-2AY| 2,240 2,240
01 AtR2elt] 640 640




A OSSN
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osl+=9 60,0002 «3H 180
OFSSZ DNa EEE
20,0003 %134 260
O=2gES 200,000 200
03 A= 1,600 1,600 0
O2u=s 300,000 x2&H 600
O=2ztsd 500,000 28 1,000
SPFuAL HRIHA 43,200 48,000 24,800
307 elztol & 43,200 48,000 24,800
10 Al SXAAEEHE 22X 43,200 48,000 24,800
OEF WAL M<IHAH|
50,0002 x72H = 12& 43,200
IRAESSTE Helold &2l X 3,000 3,000 0
307 21201 & 3,000 3,000
10 Al SXAEEE 22X 3,000 3,000
OJ122E=5g X3 oelold Ag=23H| X
& 50,000& 501 2 x 122 3,000
Olelold SJ13&I] 22l X 9,936 10,224 N288
307 lztol & 9,936 10,224 N288
10 Al SXAIEEHE 22X 9,936 10,224 N288
O0lelold s213801 2eldl Nd
12,0002 +69CH* 122 9,936
olglold et sHal SH(2E)E X 8,000 8,347 A347
307 @120l & 8,000 8,347 N347
10 AlRISXAZEE 22X 8,000 8,347 N34T
Oofgloly dSHa SMEE)E X
8,000,000& 8,000
Oelold g0l S22 ZA X3 48,000 48,000
307 elztol & 48,000 48,000
10 Al2IS XA EEE 22X 48,000 48,000
OO0l S0l SEES ZAHl X&
100, 0002 *42|x 123 1000 A 48,000
SR 1,369,186 1,364,612 4,574
2 1,026,890
Al 239,607
- 102,689
307 elztol & 1,369,186 1,364,612 4,574
= 1,026,890
Al 239,607
- 102,689
05 2IIRIE =2 1,369, 186 1,364,612 4,574
Ogrot2sz X2 1,369, 186,000 1,369, 186
= 1,026,890
Al 239,607




SN MRS
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 102,689
EFuHA 28| X 1,200,888 1,200,888 0
= 720,534
Al 336,248
- 144,106
307 gl2to| & 1,200,888 1,200,888 0
= 720,534
Al 336,248
2 144,106
W EE N EEEEEEES 1,200,883 1,200,888 0
OPSWA 01218 X
1,200,888,000& 1,200,888
= 720,534
Al 336,248
- 144,106
Eedsg A2AL 61,166 62,580 A1,414
= 45,875
Al 10,704
T 4,587
301 LEtE NS 61,166 62,580 A1,414
= 45,875
Al 10,704
- 4,587
01 AR 2EHSFS(RNEXRTHE) 61,166 62,580 A1,414
otggds+4 X2 61,166,000 61,166
= 45,875
Al 10,704
- 4,587
f220¢ 1,654,302 1,650,078 4,224
= 1,240,726
Al 289,503
- 124,073
301 EtE NS 1,654,302 1,650,078 4,224
= 1,240,726
Al 289,503
- 124,073
01 Al EE A S (FRNEXA) 1,654,302 1,650,078 4,224
OR2zs0 X& 1,654,302,000& 1,654,302
= 1,240,726
Al 289,503
- 124,073
SXDAHEESSEHG DAL ZF) 2124H] X 407,316 407,316 0
= 244,390




SN MRS
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 114,048
T 48,878
307 lztol & 407,316 407,316 0
= 244,390
Al 114,048
- 48,878
10 Al2ISTIAIEEE 22X 407,316 407,316 0
OSXDAHHFESHLDAF T8 Q12|
A& 407,316,000 407,316
= 244,390
Al 114,048
- 48,878
SRR MM K& 176,130 176,130 0
= 105,677
Al 49,317
- 21,136
307 212+01& 176,130 176,130 0
= 105,677
Al 49,317
- 21,136
10 AlISXAIZEHE 22X 176,130 176,130 0
OO08l0ld WAZReZIEdl X3
176,130,000 176,130
= 105,677
Al 49,317
- 21,136
ool 28X 23,149 9,221 13,928
= 13,889
Al 6,481
- 2,779
307 gl2tol & 23,149 9,221 13,928
= 13,889
Al 6,481
- 2,779
10 Al SXAAEEHE 22X 23,149 9,221 13,928
OO0 RMDTH| X
6,752,000& 6,752
= 4,051
Al 1,890
- 811
OO0lelol®d xtef2dgdl A
2,400,000 2,400
= 1,440
Al 672




A OSSN
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 288
OzsalpdaelXE= 13,997,000 13,997
= 8,398
Al 3,919
- 1,680
338 H20ld X (HEA) 74,000 74,000 0
Al 65,120
- 8,880
307 212+01& 74,000 74,000 0
Al 65,120
- 8,880
10 Al2IS XA EEE 22X 74,000 74,000 0
Os&¥ oelold X2 74,000,000 74,000
Al 65,120
- 8,880
el 252 X 1,010,348 1,134,056 A123,708
Al 1,010,348
307 glztol & 1,010,348 1,134,056 123,708
Al 1,010,348
05 git?(& = 1,010,348 1,134,056 A123,708
O=cltd 252 968,948,000 968,948
Al 968,948
O5AMIOFH w2l 282 FIHNES
41,400,000 41,400
Al 41,400
Oelold sdstist & 2rdAEl NI 7,240 7,700 2460
Al 7,240
307 glztol & 7,240 7,700 2460
Al 7,240
10 Al SXAEEE 22X 7,240 7,700 A460
OO0y sdsts & 2tdAtl XIA
7,240,000 7,240
Al 7,240
QIR Ofel0lE &=l A& 1,200 3,000 A 1,800
Al 1,200
307 el2tol & 1,200 3,000 /1,800
Al 1,200
10 Al2IS XA EEE 22X 1,200 3,000 A1,800
OCIZHIX& 0el0ld X2 |
1,200,000 1,200
Al 1,200
ORIOIEI0NE ZEcIAZ 28 260 260 0
Al 260




SN O
Hu: 21
ol ESAE B4 (ol @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 260 260 0
Al 260
10 Al SXAEHE2EHIEX 260 260 0
OORIOIRI0IE E2lAZ2 29
260,000 260
Al 260
S FOLHEI0IE EFSWUAL E+22E XA 24,000 24,000 0
Al 24,000
307 212+01™ 24,000 24,000 0
Al 24,000
10 AlSISXAIEHE2ZHIEX 24,000 24,000 0
ORNHHOIZOIE BRIA S22 +¢
24,000,000 24,000
Al 24,000
ZOHE SO EIOIE XIZAF 2F&HEIHAH] 6,000 6,000 0
Al 6,000
307 gI2Hol ™ 6,000 6,000 0
Al 6,000
10 Al SXAIEHE2ZHIEX 6,000 6,000 0
OZMHE RO O0IE XIZSA 2REZINH
a] 6,000,000& 6,000
Al 6,000
QIAHIXIA HE0IE EFWAI SX+E 3,600 3,600 0
Al 3,600
307 gI2tol ™ 3,600 3,600 0
Al 3,600
10 AlSISXAEHE2EHIEX 3,600 3,600 0
OLIAHINIANE0IE EFWAI X
3,600,000& 3,600
Al 3,600
J2EFZ XA H0IE EsuAE =X=Y & 78,000 78,000 0
Al 78,000
307 QIZ2t0|A 78,000 78,000 0
Al 78,000
10 Al S XA EEHE2FHIE X 78,000 78,000 0
OJ2AES2 XA Hel0ld EFWAL =X
=4 78,000,000 78,000
Al 78,000
JAEEZ XA HE0IY ESUA BJ1252Y XJ 13,800 13,800 0
Al 13,800
307 212+01 A 13,800 13,800 0
Al 13,800
10 AIEISXAIEHE2ZHIEX 13,800 13,800 0
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SN MRS
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJlzEsand ofeold 2RuA &2
=g & 13,800,000 13,800
Al 13,800
S3EOE 0 Xl ol X 7,200 3,600 3,600
Al 7,200
307 @12t0| & 7,200 3,600 3,600
Al 7,200
10 Al SXAAEEHE 22X 7,200 3,600 3,600
OZ2380a0ld X2ld At X
7,200,000& 7,200
Al 7,200
JRAESS XA oelold A2l 2ld] X3 3,000 3,000 0
Al 3,000
307 212+01& 3,000 3,000 0
Al 3,000
10 Al SXAAEEHE 22X 3,000 3,000 0
OJIZ22F2 X3 He0ld X2/& 2|
A& 3,000,000& 3,000
Al 3,000
ZOHOIM Z20{2I01E XHEIIAF QI24H] X2 12,000 4,800 7,200
Al 6,000
- 6,000
307 @I2t0| & 12,000 4,800 7,200
Al 6,000
- 6,000
10 Al2ISTIAIEEE 22X 12,000 4,800 7,200
OZ OOt 2012l01E XHEDIIAL l4H] I
12,000,000 12,000
Al 6,000
- 6,000
JIZAEFSXH 00l 2=010 R2FHEE=SE X 124,301 124,301 0
_O‘:]
Al 87,011
- 37,290
307 21201 & 124,301 124,301 0
Al 87,011
- 37,290
05 2ItRIE = 124,301 124,301 0
OJI2E2=2X & 0elold 220101 22
gE2ss X2 124,301,000 124,301
Al 87,011
- 37,290
ARIHIES X2 53,076 50,000 3,076
= 26,538




SN MRS
B gNw
el EFReE g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,577
T 7,961
307 lztol & 53,076 50,000 3,076
= 26,538
Al 18,577
- 7,961
10 Al2ISTIAIEEE 22X 53,076 50,000 3.076
OAlZNE=S K& 53,076,000 53,076
= 26,538
Al 18,577
- 7,961
ZOHOIM 2 08l01E =0t ER 23X 820 820 0
Al 820
307 gl2tol & 820 820 0
Al 820
10 Al2ISIIAIEEE 22X 820 820 0
OOt 208018 FOIHEER =29
A& 820,000 820
Al 820
SotE FHotet 249 X 35,121 36,121 0
Al 35,121
307 21201 & 35,121 35,121 0
Al 35,121
10 Al SXAAEEHE 22X 35,121 35,121 0
OR4re ggoret 28 A&
35,121,000& 35,121
Al 35,121
Oelold S2t4Hl K& 48,840 48,840 0
Al 34,188
- 14,652
307 gl2to| & 48,840 48,840 0
Al 34,188
- 14,652
10 Al SXAEEE 22X 48,840 48,840 0
OO0Il0ld S2tAHl X
48,840,000 48,840
Al 34,188
- 14,652
0l2l01d 22Z4l K& 261,000 0 261,000
Al 261,000
307 212+01& 261,000 0 261,000
Al 261,000
10 Al SXAAEEHE 22X 261,000 0 261,000
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SN OISR
M Lol=XEX
oSl AUSID PSP LEME PR (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
225t EstE TSdE 2 1,892,870 1,897,113 N4,243
= 1,080,290
Al 389,711
- 389, 111
= 33,758
ol RPESAAME 326,230 326,230 0
Al 146,236
- 146,236
= 33,758
307 elztol & 326,230 326,230 0
Al 146,236
- 146,236
= 33,758
11 AMEISXAEEE 326,230 326,230 0
Okl fE24MY 292,472,000 292,472
Al 146,236
- 146,236
OLo RE34AHE 33,758,000 33,758
= 33,758
COIEESS NI AAL 1,486,332 1,486,332 0
= 1,040,436
Al 222,948
- 222,948
307 glztol & 1,486,332 1,486,332 0
= 1,040,436
Al 222,948
- 222,948
11 AMRISXAEEES 1,486,332 1,486,332 0
O E=SMHIAA
1,486,332,000& 1,486,332
s 1,040,436
Al 222,948
- 222,948
SHEO! e SSUT A AHIAALY 80,308 84,551 N4,243
s 39,854
Al 20,527
- 19,927
307 212+01& 80,308 84,551 N4,243
[ 30,84
Al 20,527
- 19,927
1 AMISXAIEEXE 80,308 84,551 N4,243




SN OISR
M Lol=XEX
oSl AUSID PSP LEME PR (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAHEQ YKol SSHE A AHIAAY
80,308,000& 80,308
= 39,854
Al 20,527
- 19,927
OHMGHY) ED|& - SMED|B XY 10,780,477 9,921,924 858,553
= 3,650,059
Al 3,636,743
- 2,835,715
= 657,960
ZZYAL XA 14,000 14,000
201 et 3| 5,100 5,100
03 &A= 5,100 5,100
O100AI &H=H B2 A 4,100
o3& A0t 80,0002 *50H 400
oHAOIMEES, HAEE S
3,000,000& 3,000
oLolo & u 2ol & IFA KB B
I M= 70,000& %10 700
OAZ A2HA L JIEA S XX
500,000 ~2CH 1,000
301 EtE NS 8,900 8,900
11 dAMEEIXIE S 8,900 8,900
O100MI 2HEM B2 A 7,900
oZFE2Y 500,000& *4E 2,000
oAl E & 500,000 *1H 500
oEHOA IIESE & 2Y
12,0002 450 5,400
OLE Z=28AL & JIEA S HAEWHA Al
@ 5. 0002002 1,000
colgiiel & AtelESKIE & 7,223,838 7,223,838 0
= 3,611,919
Al 2,167,151
- 1,444,768
307 el2tol & 7,223,838 7,223,838 0
= 3,611,919
Al 2,167,151
T 1,444,768
05 2IMRIE =3 7,223,838 7,223,838 0
OoldTiel ¥ Atel2s XA
7,223,838,000& 7,223,838
= 3,611,919
Al 2,167,151
T 1,444,768




SN OISR
M Lol=XEX
ool oHNGHD 2D edaD|et =4 EEED
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Oist=0lel 29 X 93,500 93,500 0
Al 18,000
- 18,000
= 57,500
307 212t01& 93,500 93,500 0
Al 18,000
T 18,000
= 57,500
03 SIHHNEE 2 SHIEx 80,000 80,000 0
Oleteols] S E &SH|
1,000,000& «12& 12,000
Al 6,000
- 6,000
Otfetc ezl Szl AMR=E 22
24,000,000 24,000
Al 12,000
- 12,000
Ot c2lsl S22l AFR=E 2l
6.,000,000& 6,000
= 6,000
Olfetcelsls+Xgl 2g4l X
38,000,000& 38,000
= 38,000
11 ARRIS XA E X 13,500 13,500 0
Ot =l E 22l SXA 13,500
o024 0ot Z20E
6,800,000 6.800
= 6,800
odZEe & MNA A
3,000,000 3,000
= 3,000
oL OIMATKUS S 3,700,000& 3,700
= 3,700
o=k 24 1,268,172 1,258,032 10,140
Al 878,514
- 365,658
= 24,000
307 212t01™ 1,268,172 1,258,032 10,140
Al 878,514
- 365,658
= 24,000
05 21t =2 1,268,172 1,258,032 10,140
Oel=k2 212it] 630,919,000 630,919
Al 441,643




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 189,276
Okel=X2 23| 117,840,000 117,840
Al 82,488
- 35,352
Okol=sigza olAt|
391,340,000 391,340
Al 273,938
- 117,402
Ookoi=siZzad 24|
78,760,000 78,760
Al 55,132
- 23,628
OSBAHA SXRZE 100,000& +20& 2,000
Al 2,000
OBALAE Al2+2 = 23,313,000 23,313
Al 23,313
ORIZHAISI S XA HLIHA
100,000 «20E 122 24,000
= 24,000
d2d 29 N& 139,860 137,960 1,900
Al 29,700
- 29,700
= 80,460
201 fer23y| 140 640 A500
= 140
01 Al 22IH| 140 640 2500
ONYSANER ST L NSHE R
140,000 140
= 140
301 LELEN S 19,800 19,200 600
= 19,800
14 0Bt 2a3 19,800 19,200 600
OXSESAXN =& gl Xs
50,0002 x33F 122 19,800
= 19,800
307 @120l & 117,420 115,620 1,800
Al 29,700
- 29,700
= 58,020
10 Al SXAAEEHE 22X 117,420 115,620 1,800
oZzd =24 N& 59,400,000 59,400
Al 29,700
- 29,700
ozzd 249 & 58,020,000 58,020




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 58,020
308 AtXIEHMSOIE 2,500 2,500 0
= 2,500
14 JIEtR83 2,500 2,500 0
Odzg =7/ Rz X2
2,500,000 2,500
= 2,500
g9 Z2Y K& 7,700 6,950 750
301 EtE N = 7,700 6,950 750
02 A2 A6 (FHAAHS, NSWE) 7,700 6,950 750
OZE(4, =4)22¢ &
7,700,000 7,700
FE2E=2T2 08 22|kt BHXIAIE 41,182 41,181 1
Al 20,091
- 20,091
= 1,000
307 @120l & 41,182 41,181 1
Al 20,091
- 20,091
= 1,000
10 Al SXAAEEHE2EHI2x 41,182 41,181 1
OZZ2E =3 T2 08 22Xt BiXIAY
40,182,000 40,182
Al 20,001
- 20,091
OZ2E=3s|Z2 & 2e|X HEFIHI
500,000& 22 1,000
= 1,000
Y EHAE 10,000 10,000 0
Al 5,000
- 5,000
307 elztol & 10,000 10,000 0
Al 5,000
T 5,000
10 Al SXAIEEHE 22X 10,000 10,000 0
OZ=dg gdatite 10,000,000 10,000
Al 5,000
- 5,000
Mot IS RIAS 142,653 142,653 0
Al 142,653
307 elztol & 142,653 142,653 0
Al 142,653
11 AMRISXAEEES 142,653 142,653 0
ST oI R ME 142,653,000 142,653




SN OISR
M Lol=XEX
CHOl: OMNBED BIIE SRMED|E X4 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 142,653
2 dutgdl & 2=l A2 76,280 76,280 0
= 38,140
Al 19,070
- 19,070
307 gl2to| & 76,280 76,280 0
= 38,140
Al 19,070
= 19,070
W EE N EEEEEEES 76,280 76,280 0
OFRE Wiryl W 22| N
76,280,000 76,280
= 38,140
Al 19,070
- 19,070
2 e A 427,000 29,000 398,000
Al 2,000
- 2,000
= 423,000
401 Al HIZL 201 397,000 14,000 383,000
Al 2,000
- 2,000
= 393,000
01 Al&HI 395,000 14,000 381,000
OFRY BANS L N - 22
4,000,000 4,000
Al 2,000
- 2,000
Odzg e & N - 2=
36,000,000& 36,000
= 36,000
ORBE A2 0% SX/ (M=Kl &
ITITIETHEH B A ZHOITHAH) 355,000
oREA Y| 350,000, 0002 350,000
= 350,000
AWM, S)I242
1,000,000 1,000
= 1,000
=0IAHHl, HDISXMIEl S
4,000,000 4,000
= 4,000
03 AIZ 2 THYI 2,000 0 2,000
OREs 424 0ld £X HaA S
2,000,000 2,000
= 2,000




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 30,000 15,000 15,000
= 30,000
01 TR =S FSHI 30,000 15,000 15,000
d2g 42| S 2d=3 7Y
25,000,002 25,000
= 25,000
ORBS ¥2Y 29 25 7Y
5,000,000& 5,000
= 5,000
AEEE 2UAA LK (AMLIZZEHH) 65,000 65,000 0
Al 5,000
= 60,000
307 212+01& 65,000 65,000 0
Al 5,000
= 60,000
05 2ItRIE =2 65,000 65,000 0
OAMUNHEEHH 2 XA
5,000,000& 5,000
Al 5,000
OAMUNHEEHH 28 XA
60,000,000 60,000
= 60,000
ALIGIZEE =292 387,876 387,770 106
Al 323,764
T 85,712
= 8,400
307 21201 & 387,876 387,770 106
Al 323,764
- 55,712
= 8,400
05 212t =S 387,876 387,770 106
OAILIGIZEE 212b] 313,948,000 313,948
Al 266,856
- 47,092
OAILIZ2E 2<H| 57,466,000 57,466
Al 48,846
T 8,620
OSBAHF SXIREE 100,000 +7& 700
Al 700
OBALAE Al+2=E 7,362,000 7,362
Al 7,362
ORIZIALSI S XIAF M0
100,000 7« 123 8,400
= 8,400
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SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 12,800
Hzdl 2 =8l X2 837,216 837,216
301 EtE NS 837,216 837,216
2 AR EEAFS(HAHNS, NLHE) 837,216 837,216
0024l B9 || X
837,216,000 837,216
NASE detdiz 70,000 70,000 0
= 63,000
Al 7,000
HAHSH(AIE) 70,000 70,000 0
= 63,000
Al 7,000
307 @I2t01 & 70,000 70,000 0
= 63,000
Al 7,000
10 Al2ISTIAEEE2HIEX 70,000 70,000 0
OHUASH(AIZ) 70,000,000& 70,000
= 63,000
Al 7,000
Ots - 44 25 |4 3,698,328 3,652,812 45,516
= 1,118,302
= 386,414
Jl 12,131
Al 1,193,291
- 956,695
= 31,49%
OlS=A e 2,734,566 2,677,762 56,804
= 824,536
[ 386,414
Jl 7,231
Al 952,366
- 532,524
= 31,495
Ols=XA& 8,100 8,100 0
201 fer=3| 6,100 6,100
01 AtR2t2|HI 6,100 6,100
OOlS=TIMII RS AL
100,000 11 +32] 3,300
oottt s ZA=g
100,000& 1 x13] 100
O%dizt oroIti Z=E 24 2,000
oEE2=E M 1,800,000& 1,800
SARES 7Y 200,000 200
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SN ISR
MM Ols - HAW ©5 S|4
el OIS g EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIEE RS
100,000& 7 & *13] 700
401 AIZHIX R0 2,000 2,000
01 AlZH| 2,000 2,000
OO0gl0I=0IAIE =017 EH
2,000,000& 2,000
OlSSIH At 333 At 5,010 5,010 0
201 2= 4,710 4,710
01 At22telt] 2,000 2,000
Ootsstth 2= M& & 2g8=5 7¢
2,000,000& 2,000
2 s5=34l 2,710 2,710 0
OltssttidgsFa sUHds =AM
40,000 x2CH* 122 960
Oots&tth 212®3H(1391) RXIH]
10,0002« 12& 120
OOt 83U S dSAg |
50,000& * 122 600
OXsSxt 2= 900,000 900
OXIS XAl 130,000 130
307 212+01& 300 300
0122 & 3=l 300 300
Osttiulohotd ozl 300,000 300
OISESdER A 8,645 8,645 0
= 4,000
Al 500
- 500
= 3,645
201 er2 3| 3,000 3,000 0
[ 2,400
Al 300
- 300
01 At2teltl 3,000 3,000 0
OARE2I NE=E, 0Hl £ WSSt
JIet 24l 3,000,000 3,000
[ 2,400
Al 300
- 300
202 04dl 3,120 3,120 0
= 3,120
01 2LHoIH 3,120 3,120 0
OEZ I (AR IIH)
20,0008 %132/« 12& 3,120
= 3,120
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2A: JIsd8s
I OIS - AW 25 |4
&2 Ots=Al gtat EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O4&lelXI =8| 2,400,000& 2,400
= 1,680
Al 720
2SEI0ts NEE 108,000 96,000 12,000
= 86,400
Al 21,600
301 LB F 108,000 96,000 12,000
= 86,400
Al 21,600
01 Al B&X2HZ2(2REETA) 108,000 96,000 12,000
(OYNI=ES=] 108,000,000& 108,000
= 86,400
Al 21,600
RS0t XA 14,000 0 14,000
Al 14,000
301 LetENZ 14,000 0 14,000
Al 14,000
2 AN BEA>HS(HUHS, NYHA) 14,000 0 14,000
olsssEa s 4,000,000& 4,000
Al 4,000
OXEE=S 10,000,000& 10,000
Al 10,000
Ots L XI2 H 2 165,816 108,571 57,245
= 116,071
Al 49,745
301 LPENZ 165,816 108,571 57,245
= 116,071
Al 49,745
01 AISIBE X 2GS (2 LEXTME) 165,816 108,571 57,245
OOtsZE R A XA
165,816,000 165,816
= 116,071
Al 49,745
QES0IE 18& 2 (EX) 140,544 134,740 5,804
= 56,217
Al 84,327
307 212+01™ 140,544 134,740 5,804
= 56,217
Al 84,327
10 Al S XA EEHE2FHIE X 140,544 134,740 5,804
O=sdelE 29 K&
140,544 ,000& 140,544
= 56,217
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SN ISR
MR OIS - HAE 25 =4
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 57,606 57,606
02 NS EEESHZ(HS, NLHRA) 57,606 57,606
ONAS ZANSTANR
57,606,000& 57,606
oS¢ 705,210 778,460 ANT3,250
= 564,168
Al 98,729
- 42,313
301 EtE N = 705,210 778,460 NT73,250
= 564,168
Al 98,729
T 42,313
01 A2 HSHS(RDNEERTH) 705,210 778,460 AT3,250
Ooots+=¢ 705,210,000 705,210
= 564,168
Al 98,729
- 42,313
KNS 0tsHE 249Hl K& 57,768 54,768 3,000
= 28,884
Al 14,442
- 14,442
307 212+01& 57,768 54,768 3,000
= 28,884
Al 14,442
- 14,442
10 Al SXAEEE 22X 57,768 54,768 3,000
OXlgotsHt 238l X
57,768,000& 57,768
= 28,884
Al 14,442
2 14,440
KSotsdE 2l2id] X 268,128 268,128 0
= 134,064
Al 67,032
- 67,032
307 @120l & 268,128 268,128 0
[ 134,064
Al 67,032
- 67,032
10 Al SAAEEHE 22X 268,128 268,128 0
OXSotsHIE Al K&
268,128,000 268,128
[ 134,064
Al 67,032
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SN ISR
M Ol - HAW 95 84
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 67,032
S-SR NG0tsdH FOHKRA 7,200 14,748 N7,548
[ 3,600
Al 1,800
- 1,800
307 gl2to| & 7,200 14,748 NT,548
[ 3,600
Al 1,800
- 1,800
11 AMEISXAIEEES 7,200 14,748 AT,548
OS=5&d NA0tsdH =X
7,200,000& 7,200
[ 3,600
Al 1,800
- 1,800
EQ2E NF0tsSdH SOt 3,600 10,888 N7,288
[ 1,800
Al 900
T 900
307 elztol & 3,600 10,888 NT,288
= 1,800
Al 900
- 900
11 AMEISXAEEES 3,600 10,888 NT7,288
OER2Y XF0tsHE =IO
3,600,000& 3,600
= 1,800
Al 900
- 900
N otsSHE X2 107,778 99,886 7,892
Al 47,964
- 47,064
= 12,750
307 212+01& 107,778 99,886 7,892
Al 47,964
T 47,064
= 12,750
11 AMISXAIEEX 107,778 99,886 7,892
OXSotsHE Sate 283 7,800
oORtES Y 7,800,000 7,800
Al 3,900
T 3,900
OXISOtSHE SALAF MM
67,918,000 67,918

_29_




SN IS
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 33,959
T 33,959
OXNEotsHE 22718 X3
6.,600,000& 6,600
Al 3,300
- 3,300
Odittet] 1,380,000& 1,380
Al 690
- 690
OXSOtSHE BALL AlZ2I2RE
10,430,000& 10,430
Al 5,215
- 5,215
OXISOtSHIE SAL SXZE X
100,000 +9&H 900
Al 900
OXH0tSHIE 2UZEALRISXIAF MM
100,0002 x9S * 122 10,800
= 10,800
OXIHOISHE B3l A X2
1,950,000& 1,950
= 1,950
OlSEXIWAL IHA(EX) 79,294 77,362 1,932
[ 37,072
Al 18,536
- 18,536
= 5,180
101 eI24d| 77,744 75,812 1,932
= 37,072
Al 18,536
- 18,536
= 3,600
M OIRIMZZ2NSE S 77,744 75,812 1,932
OOts=XnA B~(2E88RE3, E83
Neiz S Z8) 18,536, 0002 #42 74,144
= 37,072
Al 18,536
T 18,536
OSNEAE 300,000 ~4& 1,200
= 1,200
OlE= G 300,0002 *4 & *23] 2,400
= 2,400
201 =3 50 50 0
= 50
01 AtR2t2|HI 50 50 0




SN ISR
3 Ols - 34E 25 |d
el OIS g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
022 (0I5 =X A 0kREl A
50,0002 50
= 50
202 04l 1,500 1,500 0
= 1,500
01 2K 1,500 1,500 0
OSRA (0SS XA EH0H
125,000« 128 1,500
= 1,500
FHS OlsSEAMEIA XIH 118,803 118,803 0
[ 91,722
Al 6,879
- 16,052
= 4,150
201 el 111,603 111,603 0
s 85,962
Al 6,447
- 15,044
= 4,150
01 At22te|Hl 107,603 107,603 0
O3RH(OtSSEALHZEIAL) OF73l X
50,0002 +3& 150
= 150
OLEAEE MH2ei2dHl S
9,380,000& 9,380
[ 7,504
Al 563
- 1,313
Oz - =X - 25228 23
98,073,000 98,073
[ 78,458
Al 5,884
- 13,731
02 S3=gHl 4,000 4,000 0
OEZARENH 3323 S
4,000,000 4,000
= 4,000
202 048l 7,200 7,200 0
[ 5,760
Al 432
- 1,008
01 =LHAHI 7,200 7,200 0
OESAEIEAY ==& OH]
7,200,000& 7,200
[ 5,760
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SN IEB=D
I OIS - AW 25 |4
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 432
T 1,008
CIetNssdl 21248 X 146,544 146,544 0
= 73,272
Al 36,636
- 36,636
307 lztol & 146,544 146,544 0
= 73,272
Al 36,636
- 36,636
10 Al2ISTIAIEEE2HIE X 146,544 146,544 0
OtgnEsdE bl X
146,544,000 146,544
s 73,272
Al 36,636
- 36,636
CietlSsdE 22 X 25,000 25,000 0
s 12,000
Al 6,000
- 6,000
= 1,000
201 er2 3| 1,000 1,000 0
= 1,000
01 At2t2ltl 1,000 1,000 0
Otighss4dH 28 ?dz S &84 =¥
100,000 %10 1,000
= 1,000
307 212+01& 24,000 24,000 0
= 12,000
Al 6,000
- 6,000
10 Al SXAEEE 22X 24,000 24,000 0
Otignss4dH 244l X
1,000, 0002 x2JH 2=* 12 24,000
= 12,000
Al 6,000
- 6,000
CIE NSS4 1248 X1 (XHAI) 21,308 19,920 1,388
Al 10,854
- 10,454
307 elztol & 21,308 19,920 1,388
Al 10,854
- 10,454
10 Al SXAAIEEHE 22X 21,308 19,920 1,388
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2A: JIsd8s
M Ols - EA4H B |84
&t Had BESs=Y EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,200
307 212+01™ 2,400 2,400 0
= 1,200
Al 1,200
11 AMSIESXAEEX 2,400 2,400 0
OFA~E RoliEd e X
2,400,000 1SHA| 2,400
= 1,200
Al 1,200
HAHE HLREAS 36,828 34,062 2,766
= 18,414
Al 9,207
- 9,207
301 LPENZ 36,828 34,062 2,766
= 18,414
Al 9,207
- 9,207
01 AISIBEH LGS (2 LEZME) 36,828 34,062 2,766
OMASEE (g8 AE M2|EE XIE
36,828,000 36,828
= 18,414
Al 9,207
- 9,207
FLEMESME 29X 176,898 163,188 13,710
Al 88,449
- 88,449
307 212+01 A 176,898 163,188 13,710
Al 88,449
- 88,449
05 QIZtRIEr S 176,898 163,188 13,710
OF2FHAEAIE 22|
176,898,000& 176,898
Al 88,449
- 88,449
HAENMY A= ALY KR 105,060 100,102 4,958
= 52,530
Al 26,265
- 26,265
307 2Iz2+0l™ 105,060 100,102 4,958
= 52,530
Al 26,265
- 26,265
05 QIZtRIErZ 105,060 100,102 4,958
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SN ISR
MR OIS - HAE 25 =4
chelr ZA49 2stgs XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 94,624
Al 47,312
- 47,312
307 @I2to| & 189,248 190,602 A1,354
= 94,624
Al 47,312
- 47,312
1 AMISXAIEEXS 189,248 190,602 A1,35%4
OFAE 2% 0B3tHI0I 28 K&
189,248,000& 189,248
= 94,624
Al 47,312
- 47,312
HAYE XIS A HHXI K& (X2 25,584 24,648 936
= 12,792
Al 12,792
307 212+01& 25,584 24,648 936
= 12,792
Al 12,792
11 AMEISXAEEES 25,584 24,648 936
O&EAE XIZAH X XI&
25,584,000 25,584
= 12,792
Al 12,792
SSELY dAE Z2)EE2Y A3 9,800 9,800
307 @120l & 9,800 9,800
1 AMISXAIEEX 9,800 9,800
OFaY FEAd Z2)8 2
9,800,000 9,800
AE 2= OFHHIOI ALK XI& 5,880 5,880 0
Al 5,880
307 @I2to1 & 5,880 5,880 0
Al 5,880
02 2B YAIHE & 5,880 5,880 0
OFEAEL=0IIH0I SAHAF X
5,880,000& 5,880
Al 5,880
Had SEXA 4,529 3,669 860
Jl 3,170
Al 1,359
301 eEetE N = 4,529 3,669 860
) 3,170
Al 1,359
01 Al EE A S(FRDEXA) 4,529 3,669 860
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SN ISR
3 Ols - 34E 25 |d
el Had 2eas Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdaXd, ABXNAS F4H SEXNH
4,529,000& 4,529
Jl 3,170
Al 1,359
HY2IHHI(OIEH=0) 312,621 290,552 22,069
s 138,139
Al 19,645
- 92,807
= 62,030
=] 248,751 234,281 14,470
= 138,139
Al 19,645
T 28,937
= 62,030
OLSSEAtdIZCIAL 24 153,964 147,245 6,719
[ 92,8%
Al 6,967
- 16,258
= 37,844
101 @124H| 138,364 131,645 6.719
= 80,415
Al 6.031
- 14,074
= 37,844
03 SRH(RIH )22 U2+ 138,364 131,645 6,719
OOtSSE At 2teIA 2= 100,520
=Jlgg 2,250,000 «3E~12& 81,000
[ 64,800
Al 4,860
- 11,340
oxIIIFRE 242,220 +38 128 8,720
[ 6.975
Al 523
- 1,222
oENNES 300,000 x3E 128 10,800
[ 8,640
Al 648
- 1,512
OOtsSEAteI22IAL B 2HIRE 37,844
=JllEag 204,640 x3E 128 10,608
= 10,608
ox IR 77,3403 =3 * 128 2,785
= 2,785




SN ISR
A HZYRAZHIOISH=1)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SRS 2,085, 710243 6.108
= 6,108
oF ok ZAl| 140,00021+32+ 122 5,040
= 5,040
coRRIRIE
2,158,850 *3H 6.477
= 6,477
oI EsH 60,0003 x3& * 122 2,160
= 2,160
olfistd Xt SHIKNES
300,000 300
= 300
ocditdli= 1,455,0102+3& 4,366
= 4,366
04 HSRESS 15,600 15,600 0
= 12,480
Al 936
- 2,184
4 BRA(RIHA)22N BEERES S 15,600 15,600 0
O=EgeRE= & 1,300,000& «12& 15,600
s 12,480
Al 936
- 2,184
OlsSSXI WAL 212 AH| 55,554 47,803 7,751
s 18,725
Al 9,362
- 9,363
= 18,104
101 2I24H| 46,816 39,943 6,873
= 14,786
Al 7,393
T 7,393
= 17,244
03 SR (RIH )22 U2+ 46,816 39,943 6.873
OOtS=RIWAL E== 29,572
=JllEa 29,572,000 29,572
s 14,786
Al 7,393
- 7,393
OOIS=AUA E== FHIRE 17,244
S 7,299,920 7,300
= 7,300
o3& FIH| 2,588,930 x80% 2,072
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JIEg=s
HY2HZHI (IS
olzt2oty|
SA - B ORI(B1) - HIRAY - BES A
= 2,072
o JAHZA| 140,000& 12 1,680
= 1,680
cHXRESR I 2,194,880& 2,195
= 2,19
SINF B =, 14,4403 = 15A1 20123 2,600
= 2,600
oA Z 1,396,230& 1,397
= 1,397
34 HAFRESS 8,738 7,860
s 3,939
Al 1,969
- 1,970
= 860
M SRHE(PINHS)2ZX B8288=2 S 8,738 7,860
OFdzg!dY=za S 7,878,000& 7,878
= 3,939
Al 1,969
- 1,970
OFdz!RY=za S 860,000& 860
= 860
OISESHERE B 39,233 39,233
= 26,519
Al 3,316
- 3,316
= 6,082
101 el H| 39,233 39,233
= 26,519
Al 3,316
- 3,316
= 6,082
02 JIEtRE = 39,233 39,233
OOISESNEYQA(AZHEERAIIH OI=)
2= 33,151
=JllEgg
36,566,0002! / 12%35/40A| 2t 12& 31,99
= 25,594
Al 3,201
- 3,201
oAZte2f+H
9,620 *10AI2t+12& 1,155
s 925
Al 115
- 115




2A:
X XH -
o e

=aak

=SS
HH2SEZHIOIEH=1L)
I8 =3

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OltsEsdERY B+ FHIRY 6,082
cEsE 60,0002 * 12 720
= 720
odAS A 140,000~ 12 1,680
= 1,680
oXZEXY|
175,000 *(35/40A124) x 12 1,838
= 1,838
oSxA24E 92,0102 128 1,105
= 1,105
oGHII2 4|
23,008,0002 / 122 x84%86%+(1/30)*(1/7 Al 2H)x
112A12¢ 739
= 739
=38l 63,870 56,271 7,59
SAI123H 63,870 56,271 7,599
201 fer= 3| 14,742 9,639 5,103
01 At 2|l 14,742 9,639 5,103
OJ|2g=+8 =&l
9,000 x5A1 %18 * 12 9,720
ORAM2Y JIZ2+=&H|
279,000& »18H 5,022
202 04t 44,928 42,432 2,4%
01 =LHOHI 44,928 42,432 2,49%
OJlzge==4 04|
260,000 x 182 » 12 +80% 44,928
203 =48] 4,200 4,200
M EASHLRFAH 4,200 4,200
ORMEA2E 350,000 * 122 4,200
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